

30.05.2013г.

Дис - упражнения

Тейлор

$$f(x) = f(a) + \frac{x-a}{1} f'(a) + \frac{(x-a)^2}{2!} f''(a) + \dots + \frac{f^{(n)}(a)}{n!} (x-a)^n + \dots$$

$$f(x) = \begin{cases} e^{-x^2} & x \neq 0 \\ 0 & x = 0 \end{cases} \quad f^{(n)}(x) = \begin{cases} P\left(\frac{1}{x}\right) e^{-x^2} & x \neq 0 \\ 0 & x = 0 \end{cases}$$

$$R_n(x) \xrightarrow{n \rightarrow \infty} 0$$

Степенный ряд

$$e^x = 1 + \frac{x}{1!} + \frac{x^2}{2!} + \dots + \frac{x^n}{n!} + \dots \quad R = \infty$$

$$\sin x = \frac{x}{3!} - \frac{x^3}{5!} + \dots + \frac{(-1)^{n-1} x^{2n-1}}{(2n-1)!} + \dots \quad R = \infty$$

$$\cos x = 1 - \frac{x^2}{2!} + \frac{x^4}{4!} + \dots + \frac{(-1)^n x^{2n}}{(2n)!} + \dots \quad R = \infty$$

$$\frac{1}{1-x} = 1 + x + x^2 + \dots + x^n + \dots \quad R = 1$$

$$(1+x)^a = \binom{a}{0} + \binom{a}{1}x + \binom{a}{2}x^2 + \dots + \binom{a}{n}x^n + \dots \quad R = x$$

$$(x-a)^n = \frac{a_0}{2} + \sum a_n \cos nx + b_n \sin nx$$

$$= 1 + x + x^2 + \dots + x^n + \dots$$

$$(\arctan x)' = \frac{1}{1+x^2} = \frac{1}{1-(-x^2)} = 1 - x^2 + x^4 - \dots + (-1)^n x^{2n} + \dots$$

$$\int (\arctan x)' dx = x - \frac{x^3}{3} + \frac{x^5}{5} - \frac{x^7}{7} + \dots$$

-1 ≤ x ≤ 1 сходящю в зрѣв. интервал.

при x=1 1 - 1/3 + 1/5 - 1/7 + ...

x=-1 -1 | 1 - 1/3 + 1/5 - 1/7 + ...

от этой формулы

$$(\arcsin x)' = \frac{1}{\sqrt{1-x^2}} = (1-x^2)^{-1/2} = \sum_{n=0}^{\infty} \binom{-1/2}{n} (-x^2)^n = \sum_{n=0}^{\infty} \binom{-1/2}{n} x^{2n}$$

$$\arcsin x = \sum_{n=0}^{\infty} \binom{-1/2}{n} \frac{(-1)^n x^{2n+1}}{2n+1} + C$$

при x=0 arcsin 0 = 0

⇒ C = 0

-1 < x < 1

$$- \binom{-1/2}{1} \frac{x^3}{3} + \binom{-1/2}{2} \frac{x^5}{5} - \binom{-1/2}{3} \frac{x^7}{7} + \dots$$

$$\sum_{n=0}^{\infty} \binom{-1/2}{n} \frac{(-1)^n x^{2n+1}}{2n+1} + C$$

гали е сх или рх за упражнение

$$\ln|1+x| = \frac{1}{1+x} = 1 - x^2 + x^4 - x^6 + \dots$$

$$\ln|1+x| = x - \frac{x^2}{2} + \frac{x^3}{3} - \dots + C$$

задача

DIC - управление

Да се разбие в реду функцията

$$\left(\frac{x^4}{4} - \frac{1}{4}\right) \arctg x$$

$$f(x) = \frac{x^4 - 1}{4} \arctg x - \frac{x^3}{12} + \frac{x}{4}$$

$$f'(x) = \frac{4x^3 \cdot 4}{16} \arctg x + \left(\frac{x^4}{4} - \frac{1}{4}\right) \frac{1}{1+x^2} - \frac{3x^2 \cdot 2}{4 \cdot 2} + \frac{1}{4} =$$

$$= x^3 \arctg x = x^3 \sum_{n=0}^{\infty} \frac{(-1)^n x^{2n+1}}{2n+1} = \sum_{n=0}^{\infty} \frac{(-1)^n x^{2n+4}}{2n+1}$$

$$f(x) = \sum_{n=0}^{\infty} \frac{(-1)^n x^{2n+5}}{(2n+1)(2n+5)} + C$$

$x=0 \quad C=0$

задача

$$\frac{1}{x^2 - 3x + 2} = \frac{A}{x-1} + \frac{B}{x-2} \quad \begin{matrix} A = -1 \\ B = 1 \end{matrix}$$

$$Ax = 2A + Bx - B = 1$$

~~x(A+B)~~

$$A(x-2) + B(x-1) = 1$$

$$A = \frac{1 - B(x-1)}{x-2}$$

$$B =$$

$$\frac{1}{x^2 - 3x + 2} = \frac{A}{x-1} + \frac{B}{x-2} = -\frac{1}{x-1} + \frac{1}{x-2} = \frac{1}{1-x} - \frac{1}{2} - \frac{1}{1-x} =$$

$$= 1 + x + x^2 + \dots + x^n + \dots - \frac{1}{2} \left(1 + \frac{x}{2} + \frac{x^2}{4} + \frac{x^3}{8} + \dots \right)$$

$= \frac{2^{2n+1} - 1}{2^{2n+1}} x^n$

zuz. $\frac{1}{1+x+x^2} \cdot \frac{(1-x)^n}{(1-x)} = \frac{1-x}{1-x^3} = 1+x+x^2+\dots+x^n+\dots$

$\frac{1}{1-x^3} = \frac{1}{(1-x)(1+x+x^2)} = \frac{A}{1-x} + \frac{Bx+C}{1+x+x^2}$

$\sum_{n=0}^{\infty} x^n = \sum_{n=0}^{\infty} \frac{1}{1-x} = \frac{1}{1-x}$

$\frac{1}{1-x} = \frac{1}{1-x} + \frac{0}{1+x+x^2}$

$\frac{1}{1-x^3} = \frac{1}{1-x} + \frac{0}{1+x+x^2}$

$\frac{1}{x^2-2x+5} = \frac{A}{x-1} + \frac{B}{x-5}$

$1 = A(x-5) + B(x-1)$

$1 = Ax - 5A + Bx - B$

$1 = (A+B)x - 5A - B$

$1 = 1x + 0x^2 + \dots = 1 + x + x^2 + \dots = \frac{1}{1-x}$